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10th- (Mathematics)

LO Based NAS Questions-2021-22
WEEKLY REVISION ASSIGNMENT -8

1. sin230%+ cos245% + cos230% =.......cuuun..n.

@ ® (9 (@

1
2. IfsinA = 5 and cosB =1 then sin(A+B) = ......ccceeene

1
HAdg sinA =—

V2

(@ 0 (b)1 (¢)2 (d) none of these ( &37fed aE7 3d7)

W3 cosB=1 J 37 sin(A+B) = wrvrrreren.

3. cosec?f (1+cos 0) (1-cos ) = wevvrrerrens
(a) 0 (b) cos?@ (c)1 (d)-1

4. If tanf = cotf , then secl = ...ccoueune.
A9 tanf =cotd , 37 secl = cvrrrnnnnn.
@2 ()1 (= (d)vV2

V3

5sinf — 3cos@ _

5. If3cot9=5thenm e

. 5sinf — 3cos@
A9d 3cotfd =533 —————— =
5sin® +3cosf

5 3
@; O (90 (@1

6. The length of the shadow of a tower on a plane ground is /3 times the height of a
tower. The angle of elevation of sun is :

fead3 S oot IuseR A SEH U3 R QEH T V3 g d I gen T T
st |
(a) 45°  (b)30° (c)60° (d)90°
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7. If cosec=3/2 then 2(cosec?d +cot?0) = .....cccrrurernne
AdT cosecH=3/2 T3 2(cosec?f +cot?0) = uvrnrrunreene.

(a) 3 (b) 7 (c)9 (d)5

8. If tanA =cotB, then A+B = ..............
A9T tanA =cotB 3 37 A+B = .unnn..

(a) 90° (b) 60°  (c) 45° (d)30°

9. A ladder 15m long just reaches the top of a vertical wall . if the ladder makes an
angle of 30%with the ground, find the height of the wall .
&g 15 iieg St Ut a9 du @ fiyg o8 sare 9t I, 7 Ut v il &3 dE 300
Je 3T dg T GoR U3 I |

(@) 7.5m (b) 7.7m (c)85m (d) 8.8 m

10. An observer 1.5 m tall is 28.5 m away from a chimney.the angle of elevation of top of

a chimney from her eyes is 45° .what is the height of the chimney ?

1.5 Hica B fEa Jud forat 3 28.5 ica R et 33 | @A S vy 53 fordt 2
fimg v o= AT 45° I | foHa! €t sl &t J=q 2

(a) 10 m (b) 20m (c)30m (d) 40m
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